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: : READ THESE INSTRUCTIONS CAREFULLY ,
I You have been given this question booklet and a separate answer sheet. The question booklet contains 50

questions.
2. Do any necessary rough work in this booklet,
3. When you have chosen your answer, mark it on the ANSWER SH EET, not in the question booklet,
HOW TO USE THE ANSWER SHEET

4. Use an ordinary pencil,

letter you h;av_ve‘c ;

Example
In the Question Booklet:

14. The process by which plants lose water to the atmosphere is called

A, capillarity

B. diffusion

C.. transpiration
D. evaporation

The correct answer is C (transpiration)

On the answer sheet:
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In the second set, the box with the letter C prmted in it is marked.
‘11, Your dark line MUST be within the box. o
12. For each questlon ONLY ONE box is to be marked in each set of four boxes.

This question paper consists of 7 printed pages

Candidates should check the question paper to ensure that all
- the pages are prlnted as indicated and no questions are missing
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Which of the following effects of HIV and
AIDS affects the family?

A. Poor health. '

B. Low self'esteem.

C. Increase in number of orphans.

D. Low agricultural production.

Which of the following is a health effect of
abusing drugs?

A. Impaired judgement.

B. Truancy.

C. Drug induced acc1dents

D. Marital conflicts

The following are ways of creating public
awareness about the spread and control of
HIV/AIDS EXCEPT

A. chiefbaraza -

B. market place

C. church service

D. job interview

The quantlty of medlcme to. be taken ata
particular tlm,e is known as

A. prescrlptlon sl

B. expirydate

C. dosage |

D. antibiotics

The diagram below shows a set up that

was used to investigate conduction in
solids.

Wa\x /Wood
NERAREA
Z'L—u ’ Stand
- Pins : A

Which pin was the last one to fall?
A. X

B. Z

C.Y

D. None

§)

8.

i

A periscope work under the principle of
A. bending of light
B. dispersion of light
C. splitting of light
D. bouncing of light )

The temperature at which a substance melts
is the same temperature at which the
substance '

freezes

evaporates

condenscs

expands

Cozmp»>

. ]
The diagram below represents a snake

_basking on a rock on a sunny day.

Heat from the sun reaches the snake
MAINLY by

radiation and convection

convection only

. radiation only

. conduction and radiation

SO

Which one of the following is the use of light
by the plants in the farm?

A. Seeing clearly.

B. Making of food.

C. During transpiration.

D. During germination.
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10.

11.

12,

13.

Sound travels fastest in
. metal

water

. air

. vacuum

SOow»

Which one of the following statement is

TRUE about the tooth shown below? They

havea srnooth edge S
arc used in bxtt;ng and gnndmg

arc 8 in number '
are never shed

.C.O.“?

ey
T, ,

consist of materlals tha are magnetic?:.,
A. Steel, iron; tin'
B. lron, zinc &m &% S
C. Alumxmum, copper glass
D. Glass, steel, iron

Which one of the following take place last
during the birth process?

A. Bursting of amniotic sac.

B. Release of afterbirth.

C. Contraction of uterine wall.

D.-Cutting and tying of umbsilical cord.

14,

B, Placenta

16.

The diagram below represent a mammalian
heart,

~wIn'which palr of blood vessels have valves?

A.Nand M
B. Mand Z -
C.Vand O
D. N,andZ

Whlch one of the followmg part protect
the foetus from phy51cal shock during
pregnancy? = -

B. Ammotlc sac

F— <Umbilical oond
D Ammonc ﬂLud

Which one of the following methods of food
preservation is BOTH traditional and
modern method?

A.  Use of honey.

B. Canning

C. Salting

D. Useoflow temperature.
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17. The following are signs and symptoms ofa -

certain disease.

(i) Brownish and thin hair.

(ii) Swollen body parts.

(iii)Sores at the corner of the mouth.
_(iv) Skin appears loose.

A child with above symptoms should be fed
on food rich in

A. vitamins

B. carbohydrates

C. protein

D. all nutrients

18.

energy giving foods?
A. Mutton and groundmite
B. Honey and sweé!

C. Mango ari b@s&f
D. Avocadoggn orﬁges

19.

8011 that is eagﬂy waté;r~logge

20. Whichoneof ),;e ﬁﬂtomngpmeﬁoe%

to soil pollutignessssenses

A stposmg of kitchen refuse in the soxl
B. Ploughing along the slope:

- C. Use of organic fertilizers.

D.. Planting cover crop.

21. Whichofthe fol]owmg effects desenbe sheet

“erosion?
A. V shapedtrenches in the ground. -
B. Small holes in the ground. _
C. Small and shallow channels in the
- ground.
D. Top layerof soﬂ mxssmg ona gentle
slope.

22. A basinmade ofiron may float when placed - :
on water because of its -~ -
A. material '
B. size . ' -
C. shape
D. colour

23. Study the dlagram below and answer the
question

Whieh one of the fOlloWing pairs consistof .{ . .

fice: .?esg'l N,O.P represent
deéregse in temperature

A. Definate mass.
B. Indifinite volume.
C. Definate shape.

D. Indefinite size.

Which onc of the following methods of
separating mixture will be the LAST when

- separating a mixture of salt, iron fillings and
- maizeflour? _ |

 A. Useofmagnet

B. Sieving
C. Filtration
D. Evaporation
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26.

27.

28.

29.

30.

Which of the following materials listed below 32. The following are ways through which small
are transparent ONLY? .. , animals protect themselves agamst danger
A. Oil, glass, miror, skylight - " EXCEPT ,
B. Clear glass, clear water, windscreen A coiling )
C. Water, wall, polythene bag B. running
D. Clear water, mirror, air C. leaping
' D. stinging
Which one of the following gases is e : - ~
CORRECTLY matched with its uses? 33. The MAIN reason why cactus plants are
Gases Uses green is to
A. Oxygen - Making soft drink A. make their own food
B. Carbondioxide - Making plants food. : B._ store water
C. Raregases  -Fire extinguisher : C. reduce water loss
D. Nltrogen - Germination of seed. D. allow gascous exchange
An animal which lxves partly othhe land 2

34, The chart below shows a 51mple cIass1ﬁcatlon
© . ofplants.

v Non-Green
The MAIN r } 1why

bodyisto | = |
A. reduce reslstance du mg movement
B. float w1théut smkmg o
C. feed comfartab
D. enhance breathing'if

Flo%enng Ne'ﬁ-Fffoweréng S

Which one of the followmg represent T.R
and S? , s
T R j S

Which one of the foltowing isa COMMON
characteristics of all mammals?

A. Lay eggs. . . o
B. They have mammary glands, A. i*er.n Avocado - Mould -

. C. Breathe through gill. ' 1 B Onions . Cedar ~  Yeast
- D. They‘have varying body-‘ie"mpéramre. | G Maize  Sisal Cypress

31

D. Oranges . Mushroom Toadstool

Which one of'the followmg ammal parasne )
CANNOT be controlled by rotatxonal

grazing? D
A. Roundworm s
B. Tick ' o AR S
D. Tapeworm ' - ' :




ol S RS

35. The following are parts of a flower.

36.

37.

38,

39.

(i) Anther
(ii) Style
(iii) Stigma
(iv) Ovary
(vi) Filament

Which two parts produces sex cells?
A. (iii) and (vi)

B. (ii) and (iii)

C. (iv)and (vi)

D. (i) and (iv)

Which one of the following pests is

CORRECTLY matched with the part of the =}

crop itattacks?
Pest
Weevils
Stalkborer
Aphids 1
) Cutwormé’l‘

@w 5
Which of the ﬁzsllomngls the MAIN '
of stem in sugarcane% .
A. Suppomqg branc M S.
B. lransportmg water, -~
C. Food storageﬂ !

D. Absorptign of water,: =7

Partof crop attacked
Leaves
Stem
Gram .
Braq;;hes :

SO®>

Which of the following statements is
TRUE about clouds that bring ﬁne
weather? They

are shaped like mountains.

are dark grey in colour.

appear low in the sky.

appear like bundles of cotton. -

Sowy»>

Which one of the following materials is
MOST appropriate to use when making a
wind sock? .
A. Polythene sheet.

B. Sheet of metal.

C. A mosquito net

D. Coloured water.

&

40. Which of the following planets are in the
. fourth and sixth position from the sun?

A. Earth and Jupiter

B. Mars and Uranus

C. Saturn and Neptune

D. Mars and Saturn
- 41. Two pupils were balancing on a scesaw as
shown below.

b Inorder to balance on the sce-saw

A. move the pivottoward pupil M.

B. pupilM should move away from the
. pivet, . %

ngpvevaot towﬁrdfpupil N.

pgg; N should moye toward the pivot.

The MAIN reaso;i why tyres of vehicles
»havetreads.is to

. improve road grip.

sreduceweight.

:sinerease.motion,

. increase durability.

Co®>

43.

Which one of the following examples of
levers has the position of load between the
effort and fulcrum?

A. Spade

B. Clawhammer

C. Crowbar

D. Wheelbarrow

Which of the following is NOT a way of
maintaining all simple tools?

A. Sharpening

B. Proper storage

C. Repairing

D. Properuse

44.
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46.

47.

48.

49.

50.

Which of the following is measured using a
beam balance? /
A. Friction

-B. Weight

C. Mass
D. Gravity

Which of the following pairs forms the
MAJOR living components of
environment?

A. Soil and water

B. Airand plant

C. Plants and soil

D. Animals and plants

Which one of'the following ways of
conserving water work the same way as
mulching?

A. Planting covcr crop

B. Recycling.

C. Reusing %
D. Using span‘ngly

l

o

The BEST way of preventmg the spread of

Cholera and prh01d Ls by
. wearing protectlve clothes. ;
proper safmation'

covering plt Iatrmes

regular deworming.

S owe

.

Which of the following i$ a suitable way of
softening temporary hard water?

A. Filtering to remove particles.

B. Adding chemicals.

C. Boiling. ,

D. Sieving the dirt.

In which one of the following activities is

water used for recreation?
A. Making fountain.

B. Skiing

C. Mixing chemicals.

D. Watering plants.

STD 8 003 SCIENCE 2021



